Potencias de 10 (F)

Calcule los siguientes productos y cocientes.

8.5382 x 1000

7.5673 x 1000

7.64°7 x 1000

3.0929 - 1000

8.2216 = 1000

6.8121 x 1000

9.0925 x 1000

3.3844 % 1000

7.3648 < 1000

3.6679 x 1000

5.5947 + 1000

2.0374 x 1000

1.9001 = 1000

2.2499 x 1000

3.9012 x 1000

9.5536 x 1000

7.6039 = 1000

8.8245 + 1000

4.2255+1000

1.1328 x 1000
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Potencias de 10 (F) Respuestas

Calcule los siguientes productos y cocientes.

8.5382 x 1000
8,538.2
7.5673 x 1000
7,567.3
7.647 x 1000
7,647
3.0929 + 1000
0.0030929
8.2216 <+ 1000
0.0082216
6.8121 x 1000
6,812.1
9.0925 x 1000
9,092.5
3.3844 x 1000
3,384.4
7.3648 x 1000
7,364.8
3.6679 x 1000
3,667.9

5.5947 + 1000
0.0055947
2.0374 x 1000
2,037.4

1.9001 + 1000
0.0019001
2.2499 x 1000
2,249.9
3.9012 x 1000
3,901.2
9.5536 x 1000
9,553.6
7.6039 + 1000
0.0076039
8.8245 = 1000
0.0088245
4.2255 + 1000
0.0042255
1.1328 x 1000
1,132.8
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